Circles

. Find the circumference of the circles whose radii are

A. 3.9cm

B. 0.16 m

C. 9cm

. Find the circumference of the circles whose diametres are

A. 15cm
B. 48 m
C. 72cm

. The distance covered by a wheel in 5 revolutions is 220 m. Find the diametre of the
wheel.

. A wirein the form of a square of side 11 cm each is reshaped and bent into the
form of a circle. Calculate the diametre of the circle so formed.

. Find the distance covered by a wheel of radius 2.5 m, if it makes 230 revolutions.





